Produktregel — Potenzfunktionen ableiten wie ein Profi!
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1. Grundlagen

Regeln

1. Potenzregel
f(x) =x"
frix)=nx

2. Faktorregel

f(x) =ax

f'(x)=a nx"" aeR

3. Merke
f(x) =x
fx) =1
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2. Produktregel

Regeln 1. Produktregel

f(x) =g(x)-h(x)
f'(x)=g'(x) h(x)+ g(x) h'(x)

Beispiele Nebenrechnung
g'(x) = 8x
a) _— 2 . 2
f (x>—4X 3x h’(x):9x2

f(x)=g(x) h(x)
£ (x) = 8x-3x” + 4x7-9x” = 24x* - 36x" = 60x"

f'(x)=g"(x) - h(x)+g(x) h'(x)
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2. Produktregel

Regeln 1. Produktregel

f(x) =g(x)-h(x)
f'(x)=g'(x) h(x)+ g(x) h'(x)

Beispiele Nebenrechnung
4 3 g'(x) =8x"

f(x)=g(x) h(x)
£(x)=8x>(5x°+11) + 2x*15x> = 70x°+80x"

f'(x)=g"(x) hix)+g(x)-h'(x)
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2. Produktregel

Regeln 1. Produktregel

f(x) =g(x)-h(x)
f'(x)=g'(x) h(x)+ g(x) h'(x)

Beispiele Nebenrechnung
'(x) = 10x
) f(x)=(5x"=7) (4’ +8) i) 1o

fx)=g(x) h(x)

£ (x)=10x-(4x’+8) + (5x*—7)-12x> = 100x"* — 84x>+80x

f'(x)=g"(x) hix)+g(x)-h'(x)
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